BB

H1H8 (6828 (1) 51 - 2@
=i AJ— BI—r~ | CIO—FK | DIJ—Fk EJ—F~ FJ—r~
BE OISR THHRSHASEEE <FEHMOR—A IEABRBE Y —| AR—ViEe Y5 —
9.30~ P 2 3 = Z 2
10: 50~ < 4 5 L R )
1210~ o6 9 8 1 _ L)
13:30~ 12 10 11 4 = ja)
14.50~ ) 14 15 5 < El
1610~ 16 18 c €]
17.30~ 20 13 17 19 C /=
FE2HE . 6 B30 (H) SBLUERARS « EEARPS
B AIF [ BI-F ] Co-F [ Do-F
ﬁﬁ}ﬁﬂ%% ?EBHﬁﬁfﬁr/ﬁ}\/El\{z’:%EE‘ < 3573\@ |\_ZA
10.00~ 21 24 (C =
11:30~ 22 23 1 A
14.30~ 25 26 =8 D
E3HEB . 6848 (8) SR
=15 AJ—k 1 BRREE - ;;!-:.;QC‘ZE
= HOAYTN 1« 2[00%k 250 —1025—2572
mpiN | TEPRSARE ERRBME 305 —109—30%
10.00~ [6) 2 F—LBAALPDIH
11:30~ 27 1« 2[00% B - B¥S10
FER RS AIE »HO (3@
3 ERE
1« 2008 H1IEREBTmMTC
FER RES AP S2MLRE TmTC
4 REBEICHNTE 22 IEREBBAR URNIZEE
WF—ABEET D,




